Booklet Series R Register Number
e Sme euflens ugley etevor

Time
Yy

KEY ANSWER

1

: 22 Hours Marks : 150
LD SLIGILI6TOTS 61T
Read the following important instructions carefully before you begin to answer the questions

>

7.
8.

9.

The sealed booklet should not be opened till the invigilator gives signal to open it at the commencement of
examination. As soon as the signal is received, you should tear the right side of the booklet cover carefully to open the
booklet and then proceed to answer the questions.
This booklet contains 150 questions. Answer all the questions. All questions carry equal marks.
You must write your Register Number in the question booklet in the space provided above. Do not write, tick the
answers or mark anything else on the question booklet.
An OMR answer sheet will be supplied to you separately by the Invigilator to mark the answers and it should be
handled carefully. You must write your name, register number and other particulars in the space provided in the
answer sheet, failing which, your answer sheet will not be evaluated. After examination, it should be returned to the
invigilator.
You must also encode your Register Number with BLACK INK BALL POINT PEN in the space provided in the
Answer sheet. If you do not encode properly or fail to encode above information, your answer sheet will not be
evaluated.
Each question comprises four responses (A), (B), (C) and (D). You have to select only one correct response, which
you consider the best and mark the response by shading the correct response in the OMR answer sheet as shown below
in BLACK INK BALL POINT PEN. Your total marks will depend on the number of correct responses marked by you
in the answer sheet. For example, if [B] is the correct answer, you have to mark as shown below.

A1 W [ D]
The last sheet in this booklet can be used for Rough Work.
Failure to comply with any of the above instruction will render you liable to such action or penalty as the Department
may decide at their discretion.
For all matters and doubts in questions, the English version is final

ala&sEné G allenLwealllugn@ (6T SLp&e L. MEYMIHMET SHEUTLONSL Lig&&ea]Lb.
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~

GCayey QMLMGWL ChrsdHed aamsasTGLmUs HMEGDUY  SEUSTENIUTET] Famid eusmyuiled Ggemmeni
HM&&6EaL TG HHETET  QFmse QuUOMe 6T Gelmmulsdl IGILDSMS &alclons HiNss Hohs e,
alenL WweNEs5S QST MIGEOMLD.
Qg elemg QeTGLUY 150 CaataNsmens QSMEILFTGL. 6T6LOT NOMESEFEGWL  aNenLwWeN&SHalD. HMETHS)
NeTES@pLD FLOLOMEN LOELICLEINS6T QST 6MHEUUITGLD.
2 RGET LSCeuamsnen Qbhg eNEMHASTGSLNOD HHHEASeT GOUIL (Bsiten QL HHD GMNES Coustai(Hd. Hemerrs Seily
aNenL semars GMbsGeUT S16L6vG Ceuml eTGIOD TLRSCEUT Fnl M.
alemLsmears @NSHSG &1L OMR allenL§smen epstim) SalUns SEUSTEMNILTOTED QUIPRISILED. HHD HhigeT
Quuiy, usQeuesnr WOHMID @QFT ONUIRIGDET HalTONS GM&S Galmuhld. Faumid GChiaNd, ShrGg Nl GGmer
wHIIE QewwiuLwrlLrg. Gsje] MemmeusnLhg Ner el e GuoUTFmeuTenfld  H@pdU QPRSI
Ceustom(BLd.
SHLUL M Q&ML UhHGI(Pen6TL Guesmeursd elenLGsmefled o mge UHCeucmemane GM&HHS &ML Geusni(HLb.
gaumid Cpialed, shsarg el gsmen WHUTEH QeuiiuL T LTS
@aQar@m efameyd (A), (B), (C) wmmid (D) senr pmsitg eNenLsmens QaMam@etens. SieunmieT Mk HsF &
61608 HHGID eNenLulenest CHijey Q&G aNmLGHTeilled H(HLL DD Q&ML LhGI(LHen6TL GUeTTeUTed GMISHIS ST L
Gouam(Bd. 2 MIESHDG SR CHiey QFls eflenL [B] eafied, oipener MNeteumomm @Més GeustmBid.

A W [ D]
GMILUSET TS LTSS QHASTGLINGT HmLE L&ESHHme 2 LCWTHSHSIS QBTETETeVMLD.
CuomsamL  eNflsaNed gCoamId BmUULLT®D, Hom dEEGL  BLEMESEHES 2 61ems  ChAGL  emer
2DUDISSILGHDFI.
SRIHe eugeNed QAsTESSUILL (BeTear GMILLSET ST (LI eUTETISTGLD.







The commercial unit of Electric energy is

eumewnu  FHuNed  LOBTMHMEMNEL  HATEHGLD
V)

(A) Watt-hour (B) Joule (A) eumL_-Lo6wh (B) £796b

(C) Kilowatt-hour (D) Watt (C) &Geomeunt_-ewl (D) euml”

In domestic electric circuits .................. LG uweurL (@ sraHmseied ... Hm

coloured insulation is called ‘live wire’ SMULmD Q&ML SN ‘LOeTGCeT L  SL
SGLD.

(A) Black (B) Red (A) sy (B) &eutiy

(C) Green (D) Blue (C) L&enG (D) BevLd

The mass of an object is 5 Kg. What is its
weight on the earth?

@@ QummeNer Heom 5 HGeom&ymd eTevfleL,
LeNuNeL SIH60T 6T6ML 61512

(A)S0N (B) 490 N (A) 50 N (B) 490 N
(C) 49N (D) 500 N (C) 49N (D) 500 N
In cells, the process of breaking down of QaecL &6 4 &E QML Qumbmy &Hlo

organic substances into simpler compounds QUTEBLEmeT ol (LPeVS  FaMIBeTs
by acquiring Oxygen is ............... AnBEEILGL BB ... 6TeOTLILIHLD.

(A) Respiration (B) Decomposition (A) GeuréLb (B) &5 61mis 60

(C) Excretion (D) Transportation (C) s1fey BésLD (D) 5L 68156

Electric generator works on the principle of BT QWD 55 gleus deit

(A) Induced current

(B) Emf

(C) Electromagnetic induction
(D) Induced Emf

SlgLusnL_uiled Gauemew QFILISMG).
(A) gnsto@ LOleTGeTTLLLD

(B) et Quiss eNeng

(C) DstraMHe Sevorev

(D) greto@ et Quiss aNeng

When the object is at infinity, the image will

Qumper Frflebeomr QA TemevaTled 2 6item GUITH)

form ........... (bud .GHmeiTmLD.

(A) between F and 2F (B) at 2F (A) Fé@1b 2F6@LD LG (B) 2Feb

(C) Beyond 2F (D) atF (C) 2Fé@ eiLmed (D) Fed

............................ mirror is commonly QUMSEETRIGEMNEL NETUMD e(HLD

used as a rear view mirror in vehicles. QUTHETRISHENETEH HITEW ................. QuUTEI6UTS
LWETUGSSULGHME).

(A) Convex (B) Concz_ive (A) GeNiwimg. (B) @ipwimg

(C) Plane (D)Spherical (C) swsam syl (D) CGamens oyl

The release of ................ from Gajengel QUL IGUNeOGBHhE QeueNGwmid

refrigerators has depleted ozone layer.

..................... amu| eGamel AGEHMS LUTHSESHMDGI.

(A) Methane (B) CFC (A) B5Ca et (B) CFC

(C) TFC (D) CO2 (C) TFC (D) CO;

Convert 40° C to Kelvin Scale. 40° C -emi1 Q&606N6T SI60&MS DTHMIS.
(A) 213°K (B) 313°K (A) 213°K (B) 313°K

(C) 331°K (D) 231°K (C) 331°K (D) 231°K
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10 | The density of Water is .............. 10 | BT SLTHE = o
(A) 1600 Kgm™ (B) 13600 Kgm™ (A) 1600 Kgm? (B) 13600 Kgm™
(C) 10 Kgm (D) 1000 Kgm (C) 10 Kgm (D) 1000 Kgm

11 | Kinetic Energy K.E =? 11| guwés sypmed (KE) =
(A) 3 mv? (B) mx* (A) 2 my? (B) mx2
(C) mgh (D)mg/h (C) mgh (D)mg/h

12 | is a Space Station. 12 | @@ aanteaei Heneouwlld.

(A) Apollo -15 (B) Apollo -11 (A) 2iiGunGeom 15 (B) SiiGurGeom 11
(C) Chandarayan -1 (D) Salyut - 5 (C) sn&ymussr | (D) g6y - 5

13 | is the inventor of the | 13 | (W&6iT(LHGHEOEL ML 6TGLOMEm6LE
first dynamo S (DTG &S WIm?

(A) George Simon  (B) Michael Faraday (A) g emawst  (B) emwsCacd ~LmyCL
(C) Oersted (D) Otto Hahn (C) wiervaLL (D) gL GLT amramer
14 | Screw gauge is used to measure the | 14 | ie® SeTON CTHTUSH .o Sl6M6]  LIflLOm6suTLD
dimension of very small objects upto ...... o eten LO&GE A QUIIHLSHemer  olenel(HLD
& (HIWIM@GLD.
(A)0.1cm (B)0.01cm (A) 0.1 cm (B) 0.01 cm
(C) 0.1 mm (D) 0.01 mm (C) 0.1 mm (D) 0.01 mm
15 | Momentum (P)=............... 15 |ophod (P)=.....c......
(A)mXa (B) F X d (A)m X a (B) F X d
(C)mXv (D) GM/R? (C)mXyv (D) GM/R?

16 | What is the effective resistance of three | 16 | 2Q, 3Q wHmd 4Q HTHOLS6T QAHTLITS
resistors 2Q, 3Q and 4Q connected in QeneursaILL(Heenee.  @eummiett  Q&m@LLIeH
series?

(A) 6Q (B) 24Q (A) 6Q (B) 24O
(C) 9Q (D) 8Q2 (C) 90 (D) 8Q

17 | The value of acceleration due to gravity at | 17 | yedd uglifed FyiNe (WESSSS6T () WL
the surface of the earth “g”is ............. | | o
(A) 8.9 ms? (B) 5.98 ms™ (A) 8.9 ms™2 (B) 5.98 ms™
(C) 9.8 ms” (D) 9.58 ms™ (C) 9.8 ms? (D) 9.58 ms™2

18 | i, is mainly used as rocket fuel. 18 | e Qu@LeaTeNed  JrEAsL Gaeed
(A) Liquid Hydrogen (B) Liquid Nitrogen TRALTGEMSL LLGTLESSILGADS.

(C) Liquid Helium (D) Liquid Ammonia (A) Gye mamLyge(B) Syel epLyesit
(C) &ngeu aunfedwib (D) &yeu ibGomesfiuum
19 | Radioactive materials are kept in thick | 19 | s&flwssl QUIGL ST Hlg&S &l Q&meuoL

............. walled containers.
(A) Copper (B) Aluminium
(C) Lead (D) Steel

............. . &everfleL emeuUSHLILIL. Ceuesor(HLD.
(A) smOiyLd (B) s1sviissfluitd
(C) smfwid (D) ¢1-.®
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20 | Which instrument is used to measure current | 20 | @ &ML  OGICEOITLL §60&  Sl6N&HS
in a circuit? LWIETU@LD FT&6oTLd
(A) Voltmeter (B) Ammeter (A) GeumebLLiBL Ly (B) SibBLL
(C) Galvanometer (D) Barometer (C) smeveuCesmBrLi (D) urGpmBLL iy
21 | The dentists use ................. mirror to see | 21 | UL LO(HSGIUTEHET LMSeledn 2 (HALIHSSLILILL
large images of the teeth. CHMHMGHNS ST LIIGTUGSSID SBblG. oo
(A) Convex (B) Concave (A) @i, (B) @Lhwimg
(C) Plane (D) Hyperbolic (C) sgen Syl (D) 61 euememul Splq
22 | Near-sightednessis .................... 22 | SILLL UMTED6U 6TE0TLGL. ..o
(A) Myopia (B) Hypermetropia (A) soCumiwr  (B)ememiujQuLl Gymwm
(C) Presbyopia (D) Astigmatism (C) NyerouCwimAwir (D) Si6fvlg &LoMig 6roLh
23 | The twinkling of stars is due 23 | eeiunBetgen LOGTERIUSDHSTET STTETILD ...........
t0 e, (A) el aHQpmeiLLy
(A) Reflection (B) e eMeused
E(E;; g«_afracti_on (C) el AmED
ispersion .
(D) Total Internal reflection D) vy o6 agapmeiiy
24 | makes use of the principle | 24 | ueT(& TS QmeLiNedt Slig L1LemL_uN6L
of multiple reflections. QFWEOUGD SHHEN....o
(A) Kaleidoscope (B) Microscope (A) semeoLmevCall (B) mieunCemmés)
(C) Telescope (D) Stethoscope (C) QammeCETeEs (D) QL &CHTervGHIL
25 | Temperature is measured usinga ............ 25 | Qeutiufsnevenwt enelll LuwleTU@GD SheN.....
(A) Barometer (B) Lactometer (A) umgomeh (B) eomsGLmBLL i
(C) Thermometer (D) Altimeter (C) QeutiLiomedn (D) spe0iqBL L
26 | The process of transfer of heat due to the | 26 | ewevdsamisefsit 2 ausmOWITET  QUISSHSST6L
actual movement of particle is ............ QeuluD LFeYD (LPEDM o ShGLD.
(A) Convection (B) Conduction (A) QeulILFeveITLD (B) QaullLésL &860
(C) Radiation (D) All the above (C) Qaullu &8 afFed(D) @amaNLmaTSgID
27 | Which is an insulator? 27 | @eubmie 618 OCHTSL GG QLIT(H6T?
(A) Well water (B) Pond water (A) Hewpmi By (B) @en& gl B
(C) Distilled water (D) Gold (C) cunemev quiqBj (D) HRISLD
28 | In which of the following, the rod acquires | 28 | Qeupmist 6HE MHapaNsT CUTS &6TOIL M6

positive charge?

(A) when a plastic rod is rubbed with wool
(B) when a plastic rod is rubbed with silk
(C) when a glass rod is rubbed with silk
(D) when a wooden rod is rubbed with
wool

Cry WeTGeormL_LLd QUMISMSI?

(A) Nevmervig Heworlh sbLefs Glemnuiied
CassLILELLCUTS)

(B) Meomervig s getoi UL (g Hiewnuied
GCo15&LILELLGUTS)

(C) semsmoima s Heoor(h UL (HS HivrNued
CawssLLEGLLCUTS)

(D) wrs seu@k sbuels gHiemnuiled
CalssILELLGUTS)
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29 | Sound travels faster in............. 29 | @6OIMETH 2a1l_&GHHL HHHLOMS
UeyLb.
(A) Solid (B) Liquid (A) SeioLd (B) &yeutd
(C) Gas (D) Vaccum (C) eumyy (D) QeummiL_Lb
30 | In non-renewable sources, which natural | 30 | ygIN&EsE @QuioTs MM CLPEORISETED 40
resource has a lasting period of 40 years? QUGHLLDEUD] HNL555FalqUl SMHMEL  ELHEVLD
1812
(A) Bio-gas (B) Petroleum (E;l gmewn etfleur)  (B) QuL_GrmeSlwitd
(C) Coal (D) Natural gas (C) Hevs s (D) @ubens srfleumy
31 | The amount of force that produce an | 31 | e HCeOTAITL Hewm 2 66 gpp QUIT(HaMN6HT
acceleration of 1ms in an object of 1 Kg of Bg 1 B.a0? (W& gHUBGSSID cNEDE.....
mass is called ............
(A) Joule (B) Watt (A) 57960 (B) eurL
(C) Newton (D) Pascal (C) By L eir (D) Lmarv&ed
32 | The law which defines force is .............. 32 | 8psaeui.  eNflsaflsd  he  eNHwimsng)
allem&emul QlemIuUmIGHMmE)?
(A) Newton’s 3" Law (A) Byl Leleir eoatmmd aNg
(B) Newton’s 2" Law (B) Bl Lsxllsit @pesormd eNé)
(C) Newton’s 1%t Law (C) Pl Leflsir (Wwged aNF
(D) All the above (D) @emeuLismens i
33 | Abullet of mass 0.01 Kg is fired fromagun | 33 | 5 8.8 aemLwjeten GLLTSEHUNOBHS 0.018).8
weighing 5 Kg. If the initial speed of the STEMLUETT @GR  SLULGSHME. (6001l 637
bullet is 250 m/s, the speed with which the by Ceusld 250 e erefled, GILLTESEHuUNeiT
gun recoils is ........... LNHTCETTEGEU COUBLD .o
(A) -0.50 m/s (B) -0.25 m/s (A) -0.50 m/s (B) -0.25 m/s
(C) +0.05 m/s (D) +0.25 m/s (C) +0.05 m/s (D) +0.25 m/s
34 | The forces of action and reaction have | 34 | eflemeor WOHMID THTONMET TUCUTGID ..o
............ magnitude and .........direction. 6T600  LOSIIDUUILD o S GO FEDILILLLD
QuHM(H&GLD.
(A) same, same (B) same, _opposite_ (A) 810, FL0 (B) &0, a18)j 18
(C) opposite, same (D) opposite,opposite (C) i a1y, &0 (D) a8 a1y, T B
35 | Two bodies of massl Kg and 4 Kg possess | 35 |1 &.& wmmib 4 &8 Hemsmensd Q&meorL

equal momentum. The ratio of their
respective kinetic energy is ......

(A)4:1
(C)2:1

(B)1:4
(D)1:2

Qrani(h  QUTGHETHET  FO 2 [HERIGEM6NL
Qummyeenesr. SeuMMIeTT QUISS MMV S a6
&KL (LPEDHDGLLL...........

A)4:1
©)2:1
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36 | If A and B are two objects with masses 10 | 36 | A wHmd B esot&m Q@ Qum@pLseflesr
Kg and 30 Kg respectively, then : Benmaer WwemmGuw 10 Kg ommid 30 Kg steufev,
(A) A has more _inert_iathan B (A) B-sow el A-ufisit Hlemeoloth SiaLb
(B) B has more mertlatha_n A _ (B) A-sowi el B-ufisit Mlmeoiotd s
O e e e (2850 gemapmas gy
(D) @emeu @Qresni(hé@&LD Hemeulold @eLemev
37 | The S.I unit of average velocity is........... 37 | sgnEfl Heng CeusSH6I S.| VG oo
(A) Km/s (B) m/s (A) Km/s (B) m/s
(C) cm/s (D) mm/s (C) cm/s (D) mm/s
38 | The molar volume of a gas at STP is ........ 38 | STP-ufeL e eumwelesr GLOM6LM LI(HLOET.d.........
(A) 22.41 (B) 22.4 cm® (A) 22.4 a0 (B) 22.4 cm?®
(C)241 (D) 2.24 cm? (C) 2.4 &9 (D) 2.24 cm?®
39 | The chemical formula for bleaching powder | 39 | geveneud HeMesT CoUS QUUIT.....covovrorororen
is
(A) Na2Cos (B) CaOCl> (A) Na,Cos (B) CaOCl;
(C) NAHCos (D) CaSos5 Hz0 (C) NAHCo; (D) CaSos .7 H0
40 | The chief ore of Aluminiumis ............ 40 | SIIDEBNLGEET LPEHHUL ST .o
(A) Corundum (B) Bauxite (A) CamyeworL_Ld (B) ur&engL
(C) Cryolite (D) Haematite (C) &smpCuimeneol. (D) CamiemLL-
41 | Pigiron contains carbon in the range of ... 41 | eumuN(pLOLINEL 2 6116 SMTLIEHT 6N6Y..........
(A) 2% - 4.5% (B) 0-0.25% (A) 2% - 4.5% (B) 0—0.25%
(C) 0.25% - 2% (D) 0—-0.2% (C) 0.25% - 2% (D) 0—0.2%
42 | The IUPAC name for formaldehyde is | 42 | umjwmedigemamigesr IUPAC QUi ...
(A) CHsCHO (B) HCHO (A) CH3CHO (B) HCHO
(C) CHsOH (D) HCOOH (C) CH3OH (D) HCOOH
43 | is a fuel derived from | 43 | gmeuy  erOQemTUNEN(BHE — HWMTHESILHLD
vegetable oil TAAUTIBET ...
(A) Diesel (B) Bio-diesel (A) leged (B) LGwime &60
(C) Fuel Oil (D) Petrol (C) efQun@msT arsto@ennis (D) QuL_Crmed
44 | The King of Chemicalsis ................ 44 | CeudIQUIT(H6NT&EHEMN6T HTEFEM ..
(A) 8Hh58 SiblevLd
(B) eomL_1fl& SiflevLd
(A) Sulphuric acid  (B) Nitric acid (C) maml Crr@Cmilé @iheot
(C) Hydrochloric acid (D) Acetic acid (D) @11 g6 oibeotd
45 | The acid present in grapes is ................ 45 | SipTlengulled 2 616 HLOIGOLD ..o

(A) Malic acid
(C) Tartaric acid

(B) Citric acid
(D) Oxalic acid

(A) wreds sifievd  (B) HLMS Sihevd
(C) LmjLmié sibleold(D) sy&eromedld oiLblevLd
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46 | Brassisanalloyof.......... and ........... 46 | NSSHEN6I CTETMLG ..o OOMID e 94,60
60T 2 GeuE& HeL6Me
(A) Cu, Sn (B) Cu, Zn (A) Cu, Sn (B) Cu, Zn
(C) Cu, Al (D) Cu, Mg (C) Cu, Al (D) Cu, Mg
47 | The pH range of a normal healthy human | 47 | 2 LebpeoN&Es  wellgefstt 2 L 6dled 2 eiten
skinis ............ Comedlsir pH &I ...
(A)0-55 (B)45-6.0 (A)0-55 (B)4.5-6.0
(C)6.9-10.0 (D)6.5-7.5 (C) 6.9-10.0 (D)6.5-7.5
48 | Of the following, which group shows the | 48 | MetreumeustreummMIeT 6HS QBTGEH 2 CevmsLD
properties of metals as well as non-metals? LOHMILD 3ICeuT& G Hlett LIGSTL|S6m6nL
QuDmeTeng)?
(A) Boron, Silicon, Germanium (A) CunyTes, Heds&meT, Q&FLmEALILD
(B) B_o_ron, Carbon, Silicon _ (B) Gumsin, BMjUsHT, HeSéamsir
(C) Silicon, Carbon, Germanium (C) Aedbamen, HML, QeFiomemiLD
(D) Boron, Carbon, Sulphur . g R
(D) Gummymest, smijuedt, FeLLILIT
49 | Which  compound is wused in the | 49 | NetTeu(meuemmeummeit SQLo6vor_ HMILD
manufacturing of cement and glass? Getuieweimly. SWTHALNED LweTURL CEIOD 618
(A) Lime stone (B) Slaked lime (A) SHEGUEOUITLDLS &H6D (B) BoHMWw sevoreoonmibLy
(C) Bleaching Powder(D) Quick lime (C) seomeus gnen (D) &L L Gedoammiby
50 | The atoms of different elements with same | 50 | 265 Bl gmetr  elGuEENGEMSUD, Coumiui L
number of neutrons are called ol e,  GaumiulL  Henm
6T6UUT60)6T0TLL| LD Q& ez QeucuGaum)
SHNDMIGATNET JETYSHHEN ... 6T6uTLILI(RILD.
(A) Isotopes (B) Isomers (A) uGsrCLmIysem (B) aCsmQoiser
(C) Isobars (D) Isotones (C) aGsmUMjSHerT (D) GanGLmetTaH6iT
51 | The compound used to remove grease 51 | sieoN&efled 2 6iem 6T SHENMEEMATUILD,
stains from clothes is ............. N&&HmETLD HSDOM LILIETLGEUG ..o
(A) Sodium Hydroxide (A) GamqILd MADIQITHmneH
(B) Calcium Hydroxide (B) smevflith emanqréma®
©) Magnesi_um Hydroxi_de (C) QuésfALD aniyITéms®
(D) Ammonium Hydroxide (D) IbCLTeLD e ITémaa
52 |In periodic classification, Group 16| 52 | g6l euflens S L eusmemiuned QHTGSH 1660
elements are called............. 2 66 G6oNDMISGEN6T GEOULD ...
(A) Transition elements (A) @eLHlenevs &aNDRISET
(B) Inert gases (B) hs euMUESET
(C) Halogen (C) GamGeongsir
(D) Chalcogen (D) gmeLCaMQI6iTerv
53 | The normal body temperature range in | 53 | wefigeNent gym&f 2L 6L Qeulil Hemev......

human being is...........
(A) 96.6 — 96.8°F (B) 98.4 — 98.6°F
(C) 98.4 — 98.6°F (D) 98.4 — 99.6°F

(A) 96.6 — 96.8°F
(C) 98.4 — 98.6°F

(B) 98.4 — 98.6°F
(D) 98.4 — 99.6°F

Full Marks will be awarded if Question No. 53 is attempted
6



ACER
Highlight

ACER
Highlight

ACER
Highlight

ACER
Highlight

ACER
Highlight

ACER
Highlight

ACER
Highlight

ACER
Highlight

ACER
Highlight

ACER
Highlight

ACER
Highlight

ACER
Highlight

ACER
Highlight

ACER
Highlight

ACER
Highlight


94 | is used in cough and | 54 | @@L WLOHMID FFEILISGLD LOIHHGHISeNYID
digestive syrups. LIWETTUGBD G0 SBEUDITOV...
(A) Methanol (B) Propanol (A) Quoggemed (B) yCrmiiLesmed
(C) Ethanol (D) Butanol (C) a1 Hewrmed (D) Ny L eormed
55 | The normal range of glucose level in a | 55 | Cym&Hwiome 2L 60 HOSHIL 6T  Falgll
healthy human body is .............. weNgeNett QIéHs FHHMI HETEY..............
(A) 80 — 100 mg/100 mi (A) 80 — 100 mg/100 ml
(B) 80 — 120 mg/100 ml (B) 80 — 120 mg/100 m
(C) 70 — 100 mg/100 ml (C) 70 — 100 mg/100 ml
(D) 60 — 100 mg/100 ml (D) 60 — 100 mg/100 ml
56 | An adult human consist ........ bones 56 | el ETIDLE  Fallged ... 6TEVILDLI&6IT
o_6iTeIT6nT.
(A) 202 (B) 216 (A) 202 (B) 216
(C) 206 (D) 220 (C) 206 (D) 220
57 | The daily secretion of saliva is .......... ml 57 | prQenmetimI&E@ FrTEing &r&GWL 2 LK et
(A) 1400 (B) 500 3166 ... L6).68.
(C) 1500 (D) 1000 (A) 1400 (B) 500
(C) 1500 (D) 1000
58 | The structural and functional unit of kidney | 58 | mfysSHeir SiqLILEDL QFUID HEOVG o
IS coiiiiiiiiia,
(A) Neuron (B) Nephron (A) Ry pmest (B) QmLigmedr
(C) Axon (D) Cyton (C) syderomedt (D) sm&L_Lmsdr
59 | In the following elements, which is not a | 59 | LNetTeu(,eueTEUMMI6T Gumy 2 GeLMMIGET
strategic metal? SILOTHG] 6187
(A) Titanium (B) Chromium (A) oLl Lrssfld  (B) @CymBuwitd
(C) Manganese (D) Nickel (C) Wmusesa (D) Méae0
60 | The first vaccine against Hepatitis-B virus | 60 | QamluenL L igev- B emeugevé@  adpns
(HBV) was used by ............ WSSO0 HHULE LIGSTUGSSUIE........
(A) lan Wilmut A) guwimeir eflebioL
(B) Edward Jenner (B) e euil. Qegsirenry
(C) Charles Darwin (C) smjevero Lmjeds
(D) Gregor Johan Mendel (D) &ysi Cegnae QeI 6
61 | Which one of the following is true for any | 61 | A OHmMILD B cT6dTLIEN CF uflens 2 6L F§IT

two square matrices A and B of same order?

(A) (AB)T=ATBT
(B) (ATB)'=ATBT
(C) (AB)'=BA
(D) (AB)=BTAT

SITN&H6T 61601160 SLNSH&HEIIL m6eUBH6rled
QouwIm@Lb?

618l

(A) (AB)T=ATBT
(B) (ATB)'=ATBT
(C) (AB)'=BA
(D) (AB)T=BTAT
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62 | Alisofordermxnand Bisoforderpxq, | 62 | A-6t1 euflem& m X n OHMID B-60T euflewns p X q
addition of A and B is possible only if 61601%. GLOQYID A LHMID B y&lilereumest
o(bHL Hmevnr @QIgY|CILD6T6L,
(A)m=p (A)m=p
(B)n=(q (B)n=q
(C)n=p (C)n=p
(Dym=p, n=q (D)m=p, n=q
63 | If A and B are square Matrices such that | 63 | A LHMID B 6TeOTLET FHIT SicwN&G6T. CLOGYILD AB=I
AB=I and BA=I, then B is OMID BA=1 61607160, B 6T60TLIS)
(A) Unit Matrix (A) 2100@ Sieuon
(B) Null Matrix (B) y&&uw siewn
(C) Multiplicative inverse Matrix of A (C) At QU@BESE CHILOTMI Sicw
(D)-A (D)-A
o4 (g g D Find the order of this Matrix o4 (g g 51)) eT6tT) iewNuetT euflena
(A)3 X 2 (A)3X2
(B)1 X3 (B)1X3
(C)3X1 (C)3X1
(D)2 X 3 (D)2X3
X X
6 If (g i) (y) = (i;) then the values of o (g i) (y) = (ig) 6TeoleD, x LOHMILD y -
x and y respectively are. seMed LFHLILSET (DG
(A)(3,6) (A)(3.6)
(B) (0,6) (B)(0,6)
(C)(3,0) (C)(3.0)
(D)(1,1) (D)(1.1)
66 _(2 12 _ (4 x 66 2 12
LetA—(O 1)andB—(O 1) A:(O 1)LD!DID.I|-b B = (g ch)
If 42=B find x. HmId A*=B etesNed X 681 WHLIL Setor
(A)144 (A)144
(B) 12 (B)12
(©)0 ©0
(D) 36 (D)36
67 | Cos?90 +Sin?290=............ 67 | Cos?90 +Sin?90=............
(A)0 (A)0
(B)-1 (B)-1
(€)1 ©)1
(D)2 (D)2
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68 | 1° isequal to 68 | 1° 6TEOTLIG)

(A)30° (A)30°

(B) 60° (B) 60°

(C)90’ (C)90’

(D) 50’ (D)s50°
69 | The value of 2227 s 69 | in27 o &L

Cos 63° Cos 63°

(A)0 (A0

(B)1 (B)1

(C)tan27° (C)tan27°

(D) cot63° (D) cot63°
70 | Inthe agjsomlng figure, i1 70 LL &80 Sin = }_g cTedileb BC= :

Sin6 =—then BC =
17

(A)85 m (A) 8518

(B)65m (B) 65108

(C)9%5m (C) 9518

(D)75m A : (D) 7518 R :
71 __ Sin?®6 =9 71 __ Sin®*6 _

1+cos 6 1+cos @

(A)Cosb (A)Cosb

(B) Tano® (B) Tano

(C) coto (C) coto

(D) cosech (D) coseco
72 |sin*@ - cos*@= 72 |sin*@ - cos*@=

(A)  2Sin26 -1 (A)  2Sin%6 -1

(B) 2Cos?6-1 (B)  2Cos?6-1

(C) 2Sin*0 +1 (C)  2Sin%0 +1

(D) 2Cos?6-1 (D) 2Cos?6-1
73 | If (2x+1) and (x-3) are the factors of ~ ax* | 73 | ax?-5x + ¢ QetT &MyeEN&eT (2x+1) HMID (X-3)

5x+c, then the values of a and c are
respectively

A)2,3

(B)-2,3

©)2,-3

(D)1, -3

6T6vfle, a LOOMID C @6dT OSIILGeT (LPemMEUI

(A) 2,3
(B) -2,3
) 2, -3
(D)1, -3
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74 | If5y+9 =24 theny=.......... 74 | 5y+9 = 24 qieflled Yeir WAL .......
Ao B Ao B
(C)15 (D)3 (C)15 (D)3
75 | Factorization of X?+x-30 is 75 | X2+x-30 6ir smyemiser
(A)  (x-6)(x+5) (A)  (x-6)(x+5)
(B) (x+6)(x-5) (B) (x+6)(x-5)
(C) (x-6)(x-5) (C) (x-6)(x-5)
(D) (x+6)(x+5) (D) (x+6)(x+5)
76 | 1f22=_22 _thenfindthevalueof m |76 |22 =_"2 _ qafc), merr wdiy......
500 22X (5)™ 500 22X (5)™
(A) m=3 (B) m=4 (A)m=3 (B) m=4
(C) m=1 (D) m=5 (C)m=1 (D) m=5
77 | A quadratic equation whose one rootis 3is | 77 | 38 cpeodnss Q&ML @@Ll FLoeUT(H
(A) x2-6x-5=0 (A) x2-6x-5=0
(B) x?+6x-5=0 (B) x?+6x-5=0
(C) x*-5x-6=0 (C) x2-5x-6=0
(D) x*-5x+6=0 (D) x2-5x+6=0
78 | (3+/3) (3-V/3)="?is equal to 78 | (3+y/3) (3-V/3)="?
(A) 1 (B) 3 (A1 (B)3
(C) 0 (D)6 (€)0 (D)6
79 | If the radius and slant height of a solid right | 79 | @@ &emin ChyeUl L& FalbLNeT S4ULd LOMHMILD
circular cone are 35cm and 37cm gmywrd (WwemGw 35 Q. wHmibd 37 Qg.8
respectively, then the height of the cone is ... 61607160 FLDLIGIT 2 WITLD G4EU.......
(A)2cm  (B)12cm (A) 20058 (B)12 @s.18
(C) 36cm (D) 6¢cm (C) 36 Q.18 (D) 6 Q&8
80 | The ratios of the respective heights and the | 80 | @p&u(® 2 (Hemensefett 2 wWIFRIGeT (WEOHMGIW
respective radii of two cylinders are 1:2 and 1:2 Hmid Seummisit oy JhiseT (WeomGuwt 2:1
2:1 respectively then their respective HW aNHGmGeiled QpLIN6T, Seummle oot
volumes are in the ratio. sleneysafler all&gL0
(A) 41 (B) 1:4 (A) 4:1 (B) 1:4
) 21 (D) 1:2 e (D) 1:2
81 | If a circular disc is rotated about one of its | 81 | @@ QUL ellgeu S Iq6060 UG JCHEMILD

diameter, the solid thus generated is called.

(A) Cylinder
(C) Cone

(B) Sphere
(D) Hemisphere

@@ QLM &5ET6HS Qsme(h &HLHMHMmID
GUMG| 2 (HEUTGLD H63T 2 (HEULD
(A) 2_memen (B) Gamenid

(C) galby (D) slemr&Gamannd

10
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82 | The surface areas of two sphere are in the | 82 | @peau® Comemmisefedt euemen  LFLILG a6
ratio of 9:25. Then their volumes are in the &g 9 : 25. seumMeT &6 SieTeyserledt
ratio. QLRI

(A)81:625 (B) 729:15625 (A)81:625 (B) 729:15625
(C) 27:75 (D) 27:125 (C) 2775 (D) 27:125

83 | 1 decimeter®isequalto ............. 83 | 1 QLA.E? 6T60TLG) oo FLOLOMETTS)
(A)1000L (B)1L(C)100L (D)10L (A) 1000601 (B) 1601 (C) 10069 (D) 1060

84 | The ratio of the volumes of three solids | 84 | gwimes SigqlILFLNeDETTULD, 2 WIFLHLD Q&T6ToTL
namely cylinder, cone and hemisphere 2 (hewel,  Faldl,  SNMIHECHTTHEH6T  Heur
having equal base area and height is SIS EFSEML G 2 6TaT aNSSHLD

(A)1:3:2 (B) 3:1:2 (A)1:3:2 (B) 3:1:2
(C) 2:3:1 (D) 1:2:3 (C)2:3:1 (D) 1:2:3

85 | The length of the tangent which is 10cm | 85 | 6Q&.8. suppsTen UL L SH6T  eMLOUIGEH6D
away from the centre of a circle of radius @mhs 10 Q8 Qsmemevalled 2 e
6cmis ........... cm. UeteMuNed(phg QI LSHAMG  eusnquiuhLd

(A)4 (B) 16 QarhHCsHMLIg6r HTomsng) .........QF. 18

(C)8 (D) 2 (A4 (B) 16

€8 (D)2

86 | Angle in a major segment is 86 | Quflw eul L §&I6Tomge0 Siemow|ld CEmemrLd

(A) An acute angle (B) An obtuse angle (A) GMRCsTsoD (B) eNfCameuod

(C) Arightangle (D) A reflex angle. (C) QERCsTeMD (D) Memeueneteys CamaLd
87 | Which polygon has 10 sides? 87 | ehy uUeLCHMEWILD 10 USESHISHTES Q&M

2_6IT6NG)|?

(A) Hexagon (B) Decagon (A) peuGsmeoid  (B) LH6TLOSCHMEITLD

(C) Octagon (D) Pentagon (C) si@mCameuud (D) BHIHSILD

88 | A Continuous piece of a circle is| 88 | ulLOURHUNT @B UGSEHES - 61601 )]

called........ Quuwiry.
(A) An arc of the circle (B) Chord (A) eIl LeNed (B) mmevor
(C) Diameter (D)Tangent (C) eALL1b (D) OBTRCHTR
89 | The perimeter of an isosceles triangle is | 89 | @m&wLEs (WE&ECETESS6T &HMeNE] 20 Q& L.

20cm. If each side is equal to two times the
base, find the base of the triangle.

(A) 8cm (B) 6¢cm (C) 16cm (D) 4cm

@&60T  eeUCUT(H USSP  IigLLSESSHMmGLI
Gumeo QOBWLLRG 616N  SlgLILGSSHMSG
SIT60015.

(A) 8Q&.8 (B) 6Q&.18 (C) 16Q&.18 (D) 4Q&.L8

11
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90 | AChessboard contains 64 equal squaresand | 90 | @@® &S TSI LMSUND 64 FLOFHITRISET
the area of each square is 6.25 sq. cm. A o 6TemenT.  eReNQeum(@®  EHITHHeT uyly 6.25
border around the board is 2 cm wide. Find Qg8 61616 FHTRGMET @Llg 2 Q&S
the length of the side of the chess board. SIBLSEIL LILeMLUITET €RLD 2 6lTeng) 6Tevtled,

FGITMIGL  LevensUTNeT USSESH6T  Hondamns
SM60015.

(A)400 cm (B) 20 cm (A) 400Q&.8 (B) 20Q& .18

(C) 24 cm (D) 22 cm (C) 24Q&..8 (D) 22Q&.8

91 | If Aand B are two mutually exclusive events | 91 | A ymmILD B 6T6oTLIEN €6BTEMMOILITETMI eX6VSGLD
and S be the sample space then B&NENGET OHMID S SeDeUSHNEHT FamiGleuerd
ANB=.. etefled A N B=.............

(AS (B)® (C)AUB (DA (A)S (B)® (C)AUB (D)A

92 | If the third term of a G.P is 2, then product | 92 | @@® QUBSGS QSTLT euflemsuled 3 gy eus)

of first 5 terms is 2 MIUL 2 6TeoN6D, UG (PGH6L 5 2 MILILISaedT
QLB &S MLIEV 60T
(A)52 (B)25 (C)10 (D)15 (A)5* (B)2° (C)10 (D)15

93 | In a flower garden, there are 23 rose plants | 93 | @@ UBCHTLLSGHD GO euflemsuied 23
in the first row, 21 in the second row, 19 in Commr&Qsgser, @UeoLmDd euflenguiled 21
the third row and so on. There are 5 rose CrrgréQsn.&er, oD anflguiled 19
plants in the last row. How many rows are CrrgnéCeiq ser 61631 Wenmuned
there in the flower garden? Crrgrédsnss  @®m (1L alflos

SIMLILNEL 2 6TorTer. SHmL & euflemguiled 5
(A)20 (B)5 (C)10 (D) 25 angné@]&m&s’n @.(IBI'JIj]'GﬁT, LY HCHTL L H&l6L

615560631 6UIfleNFSH6T 2_6iTerT6nr?

(A)20 (B)5 (C)10 (D) 25

94 | The number of subset of the set {10,11,12} | 94 | {10,11,12} ¢Tetim HEUGHHT 2 L &6wTMISET 60T
is 6T6TOT6TUT &6 8

(A)3 (B)8 (C)6 (D)7 (A)3 (B)8 (C)6 D)7
95 | The value of 1+4+9+...... +1600 is ........... 9B [1+4+9+ ... +1600 6163TH QML 6uflemguiedt
ol LM LI6VED.......
(A) 22140 (B) 2214 (A) 22140 (B) 2214
(C) 2140 (D)16000 (C) 2140 (D)16000
96 | In a hostel there are 100 students 60 can | 96 | 100 wmewieUFEeT 2 6Ten @ NHEUND 60

speak Tamil 66 can speak Hindi. How many
speak both.

(A) 6
(C) 126

(B) 26
(D) 36

LOTEUOTEUT&HET HLOILD CUSLIQITSE, 66 LDITGUITEUT ST
And Cuss Salguieufser eTesfled, @eual(m
Qumfgenearu|d GCu&LIaITS6r6 6T65uT6uuN&H6m &
(A)6 (B) 26

(C) 126 (D) 36
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97 | The scientific notation of 0.00036 is 97 | 0.00036 @et1 siMieNwed GMOUIH
(A) 3.6X103 (A) 36X103
(B) 3.6X10° (B) 3.6X10°
(C) 36X10* (C) 36Xx10*
(D) 3.6 X10* (D) 3.6 X10*
98 | The mean of first 5 whole numbers is 98 | &L 5 (W(Y eTETuBeMesT FME
(A) 25 (B) 2 (A)25 (B) 2
(€3 (D)0 €3 (D)0
99 | 4 . 9 | 4 .
\/_Z is equal to Ja s hG §LOLOMETIS)| 61517
(A) 4Va (A) 4V
(B)2 ®)2
(C)i (C)ﬁ
A
0)V2 O)v2
100 | The mean of the 5 numbers is 32. If one of | 100 | 5 eTetuIgeM6iT FYMEH 32. SIUCEUTINSHATED 6R6ITEMHM
the numbers is excluded, then the mean is péGL  Curng srmEflulied 4 GMDHSTEL,
reduced by 4. Find the excluded number. BESLILILL 6TEren6uuIé STEwIeyLD.
(A) 24 (B) 48 (A) 24 (B) 48
(C) 4 (D) 32 (C)4 (D) 32
101 | 1§ 2(2x=1) =8B=%) thenthevalueof x | 101 | 2*=1) = 8B=%) gafeh Xetr &Ly
(A)-1 (A)-1
(B) -2 (B)-2
(C)2 (€)2
(D)3 (D)3
102 | The value of (371 + 4-1 4 5-1)° 102 | (3-1 4 471 4+ 5710 g gy
(A)12 (A)12
1 1
(B)E (B) &
©)= ©)%
(D)1 (D)1
103 | If adie is rolled once, then the probability of | 103 | e usL IFLILEGLEUTE LST 61630 Henl &8
getting a prime numberis LAY
1
(M) Az
1
(B)< (B)E
(©)= ©)3
5
(D); D)

13
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104 | The probability that the chosen letter is a | 104 | gym&lev  61(pHHIHSMD  QBHE — FLoeumiILiL
vowel in English alphabet is ........... DU @@  TWdmes Caiey Qeuul,
SN6UC(PS I S hISI60 2 UNAN(PSSHTSH
@@ng,sﬁ)asrrm rpf,]:;@g,&su r—
A= B © O Az B Oz O
105 | The probability of sure event is 105 | 2@ 2mif H&HESNUNeT MBS E6Y
(A)0.1 (B)1 (C)0 (D)100 A)0.1 (B)1 (C)0 (D) 100
106 | 5,5,5,5,5,1,2,2,3,3,3,4,4,4,4 __ The mode | 106 | 5,5,5,5,5,1,2,2,3,3,3,4,4,4,4 et6tim eNLymIS66dT
of the data is ws®
(A)5 (B) 4 (C)3 (D) 2 (A)S (B) 4 ©)3 (D)2
107 | The probability that a leap year selected at | 107 | gweumitiy  (WeopuNed  CoHIHOASESSLILGLD
random will have only 52 Fridays QBL_Lmetorge0 52 QeueTaNSSLPem&6T L GG
B6s HapssH6)]
2 6 5 1 2 6 5 1
(A)7 (5)7 (0)7 (D)7 (A) - (B) - (©) = (D) -
108 | The probability of getting a red queen from | 108 | 52 L& Q&ML @@ FLGS SL1g60HHI
a pack of 52 cards is @0 FLG dG6ELeUTs g Heuliy pmeamuns
1 1 1 ALUUGHETET HSLDSSH6)]
(A)1_3 (B)g (C): (D)o 1 1 1
(A) 13 (B) 26 (© 2 (D)0
109 | The median of the ungrouped data 17, 15, 9, | 109 | e2(m QFMGSHSLILLTE aNeULOMEIL
13,21, 14,7, 32. 17,15,9,13,21,14,7,32 6T63TM) eNeurs et
AenLHenso
(A)29 (B)14 (C)155 (D)145 (A) 29 (B)14 (C)155 (D)145
110 | A and B together can do a piece of work in | 110 | @ Ceusmevsmiwt A, B @Qmeu@mL C&ihg 8
8 days, but A alone can do it in 12 days. B BT &6eMN6L (Wigliuy. A LG H6uCeUsmeLemIL
alone would complete the work in 12 BULsefled  @lumy. B WLLEGD
......... days SIUCAIMEMII QFIIG (LPl6S UGS BT &6l
A)12  (®)20 (C)18 (D)24 (A)12  (B)20 (C)18 (D)24
111 | If an alloy consist of 30% Copper, 40% Zinc | 111 | @® 2-Geonsd sevemeuued 30% gmiign, 40%
and the remaining is Nickel. Then the 8155BTaD S MéseL 2 aengl. 20 .8 2 eten
amount of a Nickel in 20 Kg of alloy Qbg 2 Geomss seenaiulled Hlésedler glene
1S.........
(A) 3 Kg (B) 10 Kg (C) 6 Kg (D) 5 Kg (A)3&8 (B)10&.& (C)6&8.8 (D)5 &.8
112 | Which number is called ‘Ramanujan | 112 “@Unmn@aa}r 6600 6T6h M) SIDLESILHLD
Number’ 1650
(A)1829 (B) 1729 (C) 1629 (D) 1529 (A) 1829 (B)1729 (C)1629 (D) 1529
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113 | The cost of 3 Mathematics books and 4 | 113 | cpeiimy  &6HL  LUSSHSM&SeT  omidb 4
Science books is Rs.144/-. If the cost of 3 SNaled  Ussshiseilst CTEs — alenew
Mathematics books is the same as that of 4 ¢h. 144 cpeim  saIsL LSS Smsee
Science books, then the cost of one eflmeould  BmeirE  SiHIONLD LSS smiserme
Mathematics book is Rs........... ellmeoujid & eaflled, @G HEIFL

US555H6T allenev Ch.....
M18  (B)24  (C)36 (D)42 (A)18  (B)24 (C)36 (D)42

114 | The sum of the ages of a father and his son | 114 | @@ &hHe0g EUTSH LOSHEUNET  EUWIGHIS6rT6T
is 45 years. After 5 years, the product of their ga(hHeL 45 UBLMSHT. 5 eUBHLRISELSSL
ages is 124. Find the present age of the son Om@ Sieufsefile euIgisemsr CILIb&SMHLIV6T
in years. 124 e16tM6d, &6fl6tT HHCLITMSII 6UWIG)] 6T60T6T?
(A) 9 (B)36 (C)6 (D) 39 A)9 (B)36 (C)6 (D) 39

115 | By selling a table for Rs.1320/-, a trader | 115 | edwmumfl eemeuy ¢5.13206@ @ Coamnsamw
gains 10%. Then the Cost price of the table 10% eomugHed eNMHMMY 6TerNled, SGHET SIL &8
isRs......... QI6MEVILITEITG| Clh............

(A) 1000 (B) 3200 (C) 1310 (D) 1200 (A) 1000 (B) 3200 (C) 1310 (D) 1200

116 | Half of a certain number added to its one | 116 | (%  ¢T6voreutNedT LTEHUIL 60T  6)Cl6U6TOT6T 63T

third gives 15. Find the number. CETMQeLTH  URIMSS — dallgeomed 15
HML&HGLD 6T6rfl6L, SiHG 616001
(A)18 (B)9 (C)6 (D)20 An18 B9 (€6 (D)20

117 | Murali gives half of his savings to his wife, | 117 | apgell  getiemuenLw  CEOND LTSI
Two third of the remainder to his son and the wemeTeN&GLW, WBHUND cpeaThed @ HLURIMS
remaining Rs.50000/- to his daughter. The WEDIEGSL A ¢5.50,000 @S Herg
respective shares given to his wife and son &EHSGD  QETHSSTT  6Tafled,  SieubenL Ll
are in Rs. eneore)l LOMID D&6sN6T LIMIG (WemmGul ¢b.

(A)1,50,000 and 1,00,000 (A) 1,50,000 wmmid 1,00,000
(B) 1,00,000 and 1,50,000 (B) 1,00,000 opmitd 1,50,000
(C)50,000 and 1,00,000 (C) 50,000 o 1,00,000
(D)1,00,000 and 50,000 (D) 1,00,000 opputd 50,000
118 | The cost price of an article is Rs.7282/- and | 118 | e, Qum@peflstt SIL&85 alemev  €F.7,282-.

profit is Rs.208/-. The Selling price of the
articleis Rs..........
(A) 7490
(C) 7500

(B) 7000
(D) 8000

@eomud ¢m,.208/- e6sfleL, QuTBeflstT eNmLem6TT

[31) (1 )TV IS —
(A) 7490 (B) 7000
(C) 7500 (D) 8000
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119 | A Company purchases an Office Copier | 119 | @@ Hmieuenid  ¢5.50,000-6@ SNF&D LGS
machine for Rs.50000/-. It is estimated that QUBATHMS UMTRGHDE.  SeuebSID
the copier depreciates in its value at a rate of @alleur@® (B Heor WS  15%
15% per year. What will be the value of the Qus&mgl e LHINLUGEDE. 3
copier in Rs. after 3 years? SGe@GEGL IS b AFELATH
(A) 42500 (B) 30706 QuIbITSSseT oL etedren?

(C) 30760 (D) 30500 (A) e.42500 (B) ¢.30706
(C) ¢m.30760 (D) ¢m.30500

120 | A train covers a distance of 300 Km at a | 120 | gL Cous g Hed @ QLI
certain speed. If its speed is decreased by 10 QUG WITeSTH| 300 &S HITHMSS &L SHHME.
Km/hr, the journey would be one hour sipg@iemLl  Geusld  waMEG 10 SIS
longer. What is the average speed of the GODSESULLLITE, SIBEIMLUI L6 GHILD 1
train? 6wl CBHID HNSHSLOMGLD 61607160,  66TuTIG UT 60T
(A) 10 Km/hr (B) 20 Km/hr sonefl Ceusld eTsbrer?

(C) 60Km/hr (D) 40 Km/hr (A) 10 Km/hr (B) 20 Km/hr
(C) 60Km/hr (D) 40 Km/hr

121 | Find the figure that comes next in the | 121 | @ps  euflensufed  @QLDOUMID  SHESHS

series? UL §&eneuid seo®iilg.
Gl bl -] e B -
1) ) 3) (4) (1) ) ®) (4)
1} {I N s 1} {I ST I
(A) (B) (©) (D)
(A) (B) © (D)

122 | There are 40 children in a class. 16 of them | 122 | e eu@LN6tT 40 LomeTTTEUTSHOMNED 16 QUIETITSH6NT
are girls. How many percent more boys than X021 021070) Y 0712V} Si616uELILN6L 31,6501
girls are in the class? reeujsefer  canamemse  QUESHmeE

SMLIQeID  eTeleuene) &FFHaHL  Fa(hFHeOMs
(A)20% (B)30% (C) 50% (D) 70% 2-erangl?
(A) 20% (B)30% (C) 50% (D) 70%
123 | A train running at the speed of 60 Km/Hr | 123 | wewNg@ 60 &S CoussHed QFevad b

crosses a pole in 9 seconds. What is the
length of the train?

(A)120m (B) 180m (C) 324m (D) 150m

JulleLeueTUlg €(h SHLDUGHSHemenT 9 CQBITg SHefleL
SLEEMOSHTMTL HG TUNeLeU6TuTUTN6dT Heard
6T60T60T?

(A) 120m (B) 180m (C) 324m (D) 150m
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124 | Two-thirds of Ram’s Salary is equal to | 124 | pafifletr oM oafid [mdes oaglu1sSlest
Rahim’s monthly salary. Rahim’s monthly et Qe LRI@GSHE FLOLTEGLD. Fanfbies
salary is 30% more than Robert’s monthly DTS 2arUID [TUFL g6 2ardluisHenet oL
salary. If Robert’s salary is Rs.32000/- then, 30% SISBD.  JIUIL Q6T  eadih  ep.32000-
Ram’s salary isRs............. §T6T060, JTLOGHT SAENID €My
(A)64200 (B) 62500 (C) 64500 (D) 62400 (A) 64200 (B) 62500 (C) 64500 (D) 62400

125 | In a class, there are 60 students and 20% of | 125 | 60 LomeTEUTHET QBT 6(F EUGLILNED 20%
them are girls. Each girl’s monthly fee is QuetTTEeT 2 eiTenen].  €(h  QUeTITNET  LOM
Rs.200/- and each bOy,S I’IlOIlthly fee is 34% uuj]mé:] SL_L_600TLD €M5.200/-. 62(Ih LDIT6vuT6L 68T 60T
more than the girl. What is the total monthly LUNHA GL LD SinseNL 34% SIHGD. Sibs
fees collected in the class in Rs.? QUGN g QFLWNILEGL QLTSS LUNHA

?
(A)15264 (B) 15624 (C)15426 (D) 16254 ?AIT)IIEELZ ?S?;g;j (?5”;?3426 (D) 16254
126 | If the difference between compound interest | 126 | 2 eu@®BL &TVHHDEG 2% 6Ullg  6TTHM
and simple interest is Rs.2500/- for 2 years aNHGSHD @@ QsTmsullsr WBeTear &al H
at 2% rate, then what is the PrinCipaI? QL 1q &GLb &M ITIJ650r 6)L_1q & (& LD 6T
QANGHHWIMFD  €5.2500/- 6T6Efl6L, SIFL CFHTENS
A

(A) Rs.6250000 (B) Rs.625000 (A) Rs.6250000 (B) Rs.625000

(C) Rs.62500 (D) Rs.6250 (C) Rs.62500 (D) Rs..6250

127 | Look at the series and find what comes next? | 127 | @bs Q&sTLfled SI(HSS 6U(BHLD  6T6TITEN6TIS

80, 10, 70, 15, 60, 20, ? aet(HLlg
80, 10, 70, 15, 60, 20, ?
(A) 40 (B) 50 (A) 40 (B) 50
(C) 55 (D) 25 (C) 55 (D) 25

128 | Look at the series and find what comes next? | 128 | @pg Q&MLfL SI(HSS 6UGHLD  6TETuIeN6TNS

3,9, 36, 180, 1080, ? su@g 3,9, 36, 180, 1080, ?
(A)3240 (B) 7560 (A) 3240 (B) 7560
(C) 10800 (D) 48600 (C) 10800 (D) 48600
129 | Find the odd number out of the following. | 129 | Meteu@d  cTetoSHeMed  MIMULEE  2-6iTen
257, 399, 145, 197 TEETIEn6mTS ST (LG
257, 399, 145, 197
(A)257 (B) 145 (A) 257 (B) 145
(C) 399 (D) 197 (C) 399 (D) 197
130 | Some articles were brought of 6 for Rs.5/- | 130 | fleo QUTHL &6 6 ETETUSH6NT Ch.5- 61607 EUMMIE 5

and sold at 5 for Rs.6/-. Find the gain

6T6U01%6T  CI5.6/- 6T60T XMHLIEN6T QFUIHTEL 60U

percentage. &g,oj‘g,Lb 6T60T60T?
(A)30 (B) 33% (A) 30 (B) 33%
(C)35 (D) 44 (C) 35 (D) 44
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131 | National Voter’s Day is celebrated every | 131 | C5Hlw eunssmeny SHeorld ¢peuQeum(h 6u(HL (LD
year on 61hG Brafed Q&meL M LLGHDE)]
(A) 26th January (A) geteurfl 26
(B) 15th August (B) S4&eioL. 15
(C) 25th January (C) sewmeurfl 25
(D) 30th January (D) gsreu 30
132 | The highest Civilian Award in India is 132 | @nSwrelstr o wifli eN@hg QGleuUTGLD.
(A) Padma Shri (A) ugLouf
(B) Padma Bhushan (B) LLOL e960T
(C) Padma Vibushan (C) UGN Q96T
(D) Bharat Ratna (D) LGS G&eom
133 | The Scheme in memory of Moovalur | 133 | sL0Lp&5&60 CLPGUBVITY @umorhiygLd
Ramamirtham Ammaiyar is intended for sibenwimflesr  Hensraied QUIETITS @15 &S
assistance 1IN .................. to girls in| | S LHHNG 2 ge
Tamilnad_u _ QUPRISLILGADS).
(A) Higher Education (A) e WwFsee
(B) Scholarship (B) sevall 2 5615 QsTens
(C) Marriage (C) S Loewiid
(D) Collegiate education (D) s6veunil& sevex
134 | Consider the following situation: 134 | Devteu@md HemeouNensnrd seveh&s:
IfA+A=B;B+B=D; A+D=E; A+A=B;B+B=D;A+D=E;
ThenB+D+E="? Siliuguwinesmed B+ D +E =7
(A)C (B)YK (A)C (B) K
(€)J (D) Q (C)J (D) Q
135 | Find the missing number in the series 135 | @5QsmLifled aN(HULL eTstorenstn &etar(HLlg..
633, 743, 853, ...7... 633, 743, 853, ...7...
(A)639 (B) 963 (A) 639 (B) 963
(C) 936 (D) 693 (C) 936 (D) 693
136 | Which Indian State became 1st to achieve | 136 | @bhHwWTOND QFHTLES SHLaNUNDL 100% QEV&EG
100% primary education? SIMLHS (LPSH6L LoMBleVLDd 6187
(A) West Bengal (A) CmE euRISTATLD
(B) Kerala (B) Gayenmm
(C) Tamilnadu (C) shpBIGH
(D) Nagaland (D) prameonhg)
137 | Tamilnadu is the .......... largest State in | 137 | @bSlwimaied UhHhS HeoLiugLiNesr

India in terms of area.
(A)9th
(B) 10th
(C)11th
(D) 8th

SligLitemL_uled SOPBHEG....... QL HH6L 2 erengy.
(A)o eug
(B) 10 6ug)
(C) 11 sugl
(D)8 eug
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138 | A is B’s sister. C is B’s mother. D is C’s | 138 | A etettueuj B ulledt sCa&Msfl. C eTeirLeu) Buedt
father. E is D’s mother. Then how is A SMIMJ. D eTedTLeUJ C UTNGHT SHHend. E eT6dTLIOUIT
related to D? DUNGST ST, SIILIQUITETTE) A-&GSWD D-HEGLD

?
(A) Grand Father Mng)zfﬂfg;”@mm o
(B) Grand Mother (B) L i
(C) Daughter (C) waen
(D) Grand Daughter (D) CGusd

139 | The total of ages of Sam, Ram and Ali is 77 | 139 | gmb, gmbd OMID 60 HACWITH6T cuUIH 6T
years. What was the total of their ages 3 Fal B QBTN 77. CPTMI QUBLRISELEES (L6
years ago? QaugseEpmLwl QT Sl Bs QFTms

6T60T60T?
(A)74 (B) 68 (A) 74 (B) 68
(C) 73 (D) 71 (C) 73 (D) 71

140 | A candidate attempted 12 questions and | 140 | @ Lwmewieustt Cayelled 12 CaHeMaN&HELHG
secured full marks in all of them. If he sflwunesr  efemLwief$s 60% QuUHMIETETTSI.
obtained 60% in the test and all question mTEHG CHNGEHSGD @Cr  WHIAL6T
carried e_qual_marks, then what is the number aeré  QemeuLmd  Gajelled  GalslulL
of questions in the test? QWMss Cadralsaiar qauamMams aalaleea?

(A)36 (B) 20 (A) 36 (B) 20
(C) 25 (D) 30 (C) 25 (D) 30

141 | In a certain code HOUSE is written as | 141 | @@® @MUl lq60 HOUSE 6T60TLI& JQWUG  6T6nT
JQWUG, how is CHAIR written in that SIPBULLLITED, ICH GMUILIged CHAIR 6T6TLS)
code? STeleuMm) 6TIPSLILIBLL?

(A)EJCKT (B) EKCT]J (A)EJCKT (B) EKCTJ
(C) EJTKC (D) ETCKJ (C) EJTKC (D) ETCKJ
142 | Fill in the blanks in the order of series: 142 | Qer@ésiul@Geten  QEmLfledT  SiigliLemLufed
Camgl L QL G608 HIILLs.
DBE, EBF, FBG,.............. , HBI DBE, EBF, FBG,.............. , HBI
(A)BGH (B) HGB (A) BGH (B) HGB
(C) GBH (D) HBG (C) GBH (D) HBG

143 | Look at this series. What number should | 143 | @pg QsTLfled SHBHEHSH QUIBLD FFlwime eT6s0r
come next? 61812
32,31, 33,32,34,33, ...... 32,31, 33,32,34,33, ......

(A)32 (B) 34 (A) 32 (B) 34
(C) 35 (D) 36 (C) 35 (D) 36

144 | The total number of districts in Tamilnadu | 144 | 01.01.2016 Si6tT )] SO &S HeL 2 eitan

State as on 01.01.2016 is LOTEUL_L_RI&6M6dT 6T6iotemN&end 61616662
(A)30 (B) 35 (A) 30 (B) 35
(C) 32 (D) 36 (C) 32 (D) 36
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145 | The first known metal to man is 145 | weNgest SNHS (LPHL 2 CeorsLd
(A)Gold (B) Copper (A) sruisLD (B) smoiyLd
(C) Iron (D) Silver (C) @y (D) Qeueite
146 | WTO is linked to 146 | wTo 618 8IMMW]L 60T QSHTLFLIEMLWIGI?
(A) Trade (B) Medicine (A) sumemsLd (B) w®Ssi6uD
(C) Banking (D) Education (C) aum& (D) sevex
147 | Of the 3 numbers, the 2" is the half of the | 147 | Qen@ésiL(eter 3 aEuBaNled 26u8  6Tetom
first and the third is three times the first. If WL 6TETOTsuTNed L&) CLOSTTMTEUS! 6T6801 (LD 6D
the average is 24, then the smallest number sTesoemeTIILl GUITEHTMI eL6TMI DL M. SieudMlest
IS ggngf 24 eefled, Seummien &E Hblw eT6vor
61812
(A)8 (B) 9 (A) 8 (B) 9
(€)6 (D)7 (C) 6 (D) 7
148 | The first recipient of Dr. A.P.J.Abdul Kalam | 148 | 1008 oijsmed eupRISILULL LTSL]T 6.10.C.
Memorial Award instituted by Tamilnadu is SO &HeoMD Heverey eNmEHeneet Geufseried
................. (PHELMEUHTS Qummeury
(A)N. Valarmathi (A) 6T6ir. euamijLod)
ECB:; manoﬁma (B) wGevrmiyLom
ary rom (C) Gofl Camib
(D) Saina Nehwal (D) smilenm QUpiLIQUTED
149 | If the ratio of the cost price and the selling | 149 | @@® Qum@mefett SIL&ES ellemed  WOHMILD
price is 4 : 5, then the profit percent will be: epuener ellemevseflsst eN&srEenyd 4 : 5
61607160, 6UML FHETBHLD 6T6LIEUATEY?
150 | Who among the following reached the | 150 | MNetteu@md HifHQsL afjjsefed, O& aNenyeurd

milestone of fastest 7000 One
International Runs in Cricket?
(A) AB de Villiers
(B) Sachin Tendulkar
(C) Virat Kohli
(D) Brian Lara

Day

7000 &JeuUCHEF e(HBMeNT  CUMLILG 6L L MRIG6T
(T6OTHM QeVGHMS ML HG6U]T UIM?

(A) g0 19 Qeuedwiyerv

(B) g&86t1 QL 6T01(R6LSIT

(C) g Camamed

(D) Nemiyest eomym
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